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Note that the output is 

expressed as a 

deviation variable from 

its initial steady state.

CHAPTER 5: PROCESS SYSTEMS     

WORKSHOP 3b

Each system experienced a single impulse input at t=3.  Explain what you 

can conclude about each dynamic system from the output plots in the 

figure below.
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Note that the output is expressed as a deviation variable from its initial steady state.

CHAPTER 5: PROCESS SYSTEMS     

WORKSHOP 3b

Each system experienced a single impulse input at t=3.  Explain what you can conclude about each dynamic system from the output plots in the figure below.
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The following transfer function was derived for a process unit.  Describe the 

output (y’(t)) behavior for a step increase in the input (x’(t)) of 4.2
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The following transfer function was derived for a process unit.  Describe the output (y’(t)) behavior for a step increase in the input (x’(t)) of 4.2
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x(s) (12s+1)(14s+ 1)(7s+ 1)(25s2+ 55+ 1)














image5.emf
The following transfer function was derived for a process unit.  Describe the 

output (y’(t)) behavior for a step increase in the input (x’(t)) of 4.2
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The following transfer function was derived for a process unit.  Describe the output (y’(t)) behavior for a step increase in the input (x’(t)) of 4.2
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CHAPTER 5:  PROCESS SYSTEMS

WORKSHOP  10

Both the “first-order system” and the “pure integrator” 

involve a single accumulation term and therefore, one 

derivative.  Compare these two systems, giving 

similarities and differences.  Give examples of each in 

your everyday life.
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CHAPTER 5:  PROCESS SYSTEMS

WORKSHOP  10

Both the “first-order system” and the “pure integrator” involve a single accumulation term and therefore, one derivative.  Compare these two systems, giving similarities and differences.  Give examples of each in your everyday life.
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Based on students having completed the Chapter 5 e-Lesson before class

Chapter 5 Part I

Dynamic Behavior of Typical Process Systems
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CHAPTER 5: PROCESS SYSTEMS     

Each system experienced a single impulse input at t=3.  Explain what you 

can conclude about each dynamic system from the output plots in the 

figure below.
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CHAPTER 5: PROCESS SYSTEMS     

Each system experienced a single impulse input at t=3.  Explain what you can conclude about each dynamic system from the output plots in the figure below.
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